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10 There are

descriptions in the table below.

Complete the table below by wriing the correct storage device or media in the box next to each
description.

Description Storage device or media

Non-volatile memory that can only be read from and not
wiitlen to.

Optical storage media that allows very high storage capacity
by using bluelviolet laser technology.

Volatile memory that stores data, programs and the parts of
the operating system that are currently in use.

Optical storage media that uses a single spiral track and uses
dual layer technology, allowing high data storage capacity.

Device that stores data by controlling the movement of
electrons within a microchip; there are no moving parts.

Optical storage media that uses concentric tracks allowing
wiiting and reading to take place at the same time.
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Identify whether the four statements about fils compression are correct by witing TRUE or FALSE

in the following table.

Statement

TRUE or FALSE

MIDI files store the actual music notes in a compressed format

JPEG files are examples of lossless file compression

MP3 files are, on average, 90% smaller than the music fles.
stored ona CD

MP4 fles are examples of lossy file compression

(@) Explain what is meant by a denial of service attack.

Tools

Fill & Sign

Comment

220 ||

1/3/2017





image9.png
71 2210 w16_qp_13.pdf - Adobe Reader

SR X )

Ele Edit View Window Help

x

Do |AB@FSES

4]r18

EARR= =R R A

(@) Staff currently use a keyboard to input a customer food order into a computer. The food order

o

s then sent to the kitchen
State two disadvantages of using a keyboard to input a customer food order.

1

&}

A concept keyboard has a flat surface that is overlaid with images of food items available
from the restaurant menu. Statf can click on an image to add the food item to a customer food

order.

The Henslows Diner wants to change to a concept keyboard to input customer food orders.

Explain two benefts of making this change.
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(€) The Henslows Diner stores personal data on a computer. This computer is connected to the
Intemet to allow the data to be backed up.

There is currently one security method in place to protect the data on the computer fom
unauthorised access. This is a password.

Give two other security methods that could be added to improve the security of the data.
Describe how each method will kesp the data safe.

‘Security method 1

Description

‘Security method 2

Description
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L] 3 (a) Five sensors and five applications are shown below. I
Draw a line to link each sensor to its most appropriate application.
Sensor Application g
Light Monitor the pollution levels in a river
sensor
Moisture Control the switching off and on of
sensor street lights
Gas Detect intruders breaking into a
sensor building
pH Monitor the amount of water left in
sensor clothes in a dryer
Pressure Monitor acidity levels in the soil in a
sensor greenhouse
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(b) Automatic doors in a building are controlled by the use of infrared sensors and a
microprocessor.

Describe how the sensors and the microprocessor are used to automatically open a door as
a person approaches.
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(iii) The printer runs out of paper while it is printing the documents. A signal is sent to the
processor to request that the problem is dealt with.

Name this type of signal.

-1

(b) State one suitable application for each printer below. A different application must be given for
each printer.

Inkjet printer .

3D printer ..
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(c) Name another type of printer and describe one way in which it is different from the printers
named in part (b).

Give an application for this printer.

Type of printer ..

Description ...

Application .
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11 (a) Four examplas of optical storags media are:

ovoaw
DVD-RAM
GD-ROM
Bluay dsc

“The table bekow shows four eatures of opical storage media.
“Tick (/) tha appropriaa boxes n tha table o idicats which of ha featuras apply to Gach
xampe of opial storage media.

Hany
concenric | used to raad
racks write data

(8) ol stato rivs (SSD) are replacing hard disc dives (HDD) i some computers

() Give throo eascns why this is happening.

1

(i) Explain why many web servers st uss hard dsc dive (HDD) tachnclogy.
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(8) Dascriba how the siza of the tex la can ba aducad.

©
(6) s fla wil ba transmiia to Mashuc as an amall aiachmert, Mashuda then stcra it on
er compuar

Explain how checksums can bo uso to variy that the fla has not boen cormupted during
‘ransmission ordaia storaga.
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